Stat 2470, Quiz #7, Spring 2014 Name
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Instructions: Show all work. You may use your calculator rather tha
you do, ‘show work’ by saying which program you used to obtain th
entered. Round measures of center to one decimal place more thar
devyiation to two decimal places more than the original data. Round

C

n compute formulas by hand, but if
e result and what information you

) the data, and variance/standard
probabilities to three decimal

places (or percent plus one decimal place).
1. Use your calculator to find the following probabilities using the normal distribution.
a. P(Z=3.5)

hovoelcd (3.5, B34) = 2.326F po-Y

b. P(-1.2<7<18)
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What x-value represents the 915t percentile of the distributio

N is normal with a mean ofu =
15.2and o = 2.41.
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invNorm (.41, IS.2, 2.41) = (g,
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Suppose that the probability of an experienced editor finding a typo on a page of previously

edited text is 0.02, While editing a particular text with 550 pa
probability of finding fewer than 5 errors. Can you use the no
binomial in this instance? If 50, explain why,

required probability. If not, explain why not, and use the exac
distribution to compute the probability.
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and use the appr

ges, the editor wants to know the
'mal approximation to the
Oximation to calculate the
t value from the binomial
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